ASS. REC. BY: Marcus  REF: C	5/07/22002909/4943
	ASSIGNMENT
From: Date:	Veh No: 5/47 6356-2 Yr Regn: 18/06/15
Estimated Cost:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD / TP WS / TP RES / OD RES / EVA / INV / MV	Truck / Trailer or (A)
To Inspect Vehicle No: 5 12 7 6316 -	
at Workshop m/s PA ub,	Colour GM A/C: Insured / Std / NI / NA
	Sp.Reading / 2046 T/Radio: Insured / Std / NI / NA
of	
Insured: SMW27SS	C/No: JN/JANT 32-20000600
Policy No.	Gen. Cond: Good / Fair / Poor / Burnt
Claims No.  Sum Insured: Excess:	Steering: Inorder / Jammed / Leaked / Burnt or
	Brake: Inorder / Jammed / Leaked / Burnt or
(Client's Record) Make of Veh:	Modi: Nil /S/Rim / STD A/Rim or
Make of vert.	Tyre Size: F: 225/60 R.F.
\	ryle Size. R:
(Policy Condition)	N/S O/S BS / DUN EXNOVA / GY / FS / LIZA / MIC / OHTSU / PIR / SUMI /
Remark: The veh had commenced its repair at the time of inspection.	TOYO / YOKO or
	13
Bal. or Market Value: \$56	r No. R/Bal. 7 mm R/Bal. 7 mm
IDAC Accident Rport: Consistent? : Yes or	
GIA / PR Seen: Consistent?: Yes or	1/1 - /22 - 201 - 7 - /22
Est. Repairs: days Res.: Yes o	
Lum Sum: % 3 Val.: <b>Yes</b> of	1
CA / REV / REP. / 24 HRS	Des. of Damages : Frt / Rear / O/S / N/S / U/C / Rooftop or
	rehicle: IN/OUT Rear & Rear W/Screen shother
002 1416	The U/C / Chassis frame / Body Structure affected due to collision.
Date / Time Action / Instruction  3 mt 4 83 499 + 14 x 3	2015 dr.
Nett \$17178	
Page 6 OT Viles	ma-the 1-2701 1050
0/22 - charle courte Person	re Ray he said this websele claims 010 druly
Submit 707AL 10	of from Direct Asia
Date/Time, File Pass to? : Preli. Report	Days Of Repair:
: Final Report	Resurvey No. of Trip: Survey Fee:
Date/Time, File Return to?	Transportation:
2)	Add Fee: : Site Insp (\$ )s+Rs,si
	: Interview (\$ ) Photos
Report Format :	: Tech. Invs (\$ ) Others

: Weekend (\$

TOTAL

Lump Sum / I.B.I: (\$

Blk 3022A Ubi Road 1 #01-45/46 Singapore 408716 TEL: 6741 5336 FAX: 6741 7208 Email: claims@procarcare.com.sg GST:201006949C RCB NO:201006949C

PAY SWEE KENG JENNIFER M/S:

BLK 6 BUKIT BATOK ST 41 #11-17

SINGAPORE 657992

Date:
Policy No:

Make/Model:

**Estimate No:** 

EST1507967

23 Mar 2022 MT/00946604

SKT6356Z

NISSAN X-TRAIL 2.0

CVT ABS 4WD S/R 7-STR

Your Ref No:

ATTN: CHINA

TP 0322-6717

Chassis No:

JN1JANT32Z0000600

Claim Type:

Third Party

Engine No:

MR20724259B

Accident Date:

16/03/2022

Reg. Date: 18/06/2015

TP Veh Reg No:

SMN 2755 P

Estimate Repair Cost to Vehicle No :SKT6356Z

	Description	<b>U/Price</b>	Quantity	Price Amou
	Net Price			<u>S\$</u>
1	EXHAUST TOP PLATE (MIDDLE)	93.1000	1 PCS	93.10 ?
2	EXHAUST TOP PLATE (REAR)	95.1000	1 PCS	95.10
3	REAR DOOR - LH/RH	1,090.300	2 PC	2,180.60 X
4	REAR DOOR RUBBER - LH/RH 1	117.3000	2 PC	234.60 X
5	REAR DOOR RUBBER - LH/RH // 7	32.4000	1 PC	32.40 ×
6	RH FRONT SEAT Sul/ful	0.0000	1 PCS	0.0000 7
7	REAR DOOR TOP HINGE - LH/RH	60.7000	2 PCS	121.40 ×
8	REAR DOOR BOTTOM HINGE - LH/RH	60.7000	2 PCS	121.40
9	REAR DOOR CHECKER - LH/RH 17	48.2000	2 PCS	96.40 ×
0	FRONT DOOR - RH	1,090.300	1 PC	1,090.30 ×
	. 1			117.30
1	FRONT DOOR STICKER BY	117.3000	1 PC	
2	FRONT DOOR STICKER - RH ~ 7	32.4000	1 SET	32.40
3	FRONT DOOR TOP HINGE - RH 11	60.7000	1 PCS	60.70
4	FRONT DOOR BOTTOM HINGE - RH	60.7000	1 PCS	60.70 X
5	FRONT DOOR CHECKER - RH 17	48.2000	1 PC	48.20 X
6	FRONT FENDER - RH	641.7000	1 PC	641.70
7	FRONT FENDER OUTER ARCH GARNISH - RH	180.0000	1 PCS	180.00
8	FRONT FENDER COWLING CLIPS - RH 47	119.7000	1 PC	119.70
9	TROTT PERDER CONDING CENTS THE	4.4000	10 PC	44.00
0	FRONT BUMPER W/LOWER 31 and	594.1000	1 PC	594.10
1	FRONT BUMPER SIDE HOLDER - RH/LH // 1	44.2000	2 PC	88.40 X
2	FRONT BUMPER CLIPS 71	4.4000	10 PC	44.00 ×
3	HEADLAMP UNIT - RH	2,833.600	1 PCS	2,833.60 ×
4	FRONT FOGLAMP COVER W/CHROME - RH 51	87.7000	1 PC	87.70
5	REAR BUMPER W/LOWER	693.1000	1 PC	693.10
6	REAR BUMPER (LOWER) CENTER REFLECTOR 313	127.0000	1 PC	127.00
7	REAR BUMPER (LOWER) SIDE REFLECTOR - LH/RH 0/5 51	<b>3</b> 61.9000	2 PC	123.80 17 _
8	REAR BUMPER SIDE HOLDER - LH/RH Buffen	38.9000	2 PCS	77.80
9	REAR BUMPER CLIPS	4.4000	10 PC	44.00
0	REAR BUMPER REINFORCEMENT	596.2000	1 PC	596.20
1	REAR BUMPER REINFORCEMENT BRACKET - LH/RH	195.6000	2 PC	391.20
2	REAR BOOT	4,818.000	1 PC	4,818.00
3	REAR BOOT 'X-TRAIL' WORDING	110.0000	1 PCS	110.00
4	REAR BOOT OUTER GARNISH W/CHROME $\mathcal{C}$	145.2000	1 PCS	145.20
5	REAR BOOT 'NISSAN' EMBLEM	64.9000	1 PC	64.90
6	REAR BOOT HINGE - LH/RH Su	88.8000	2 PC	177.60 ×
7	REAR BOOT LAMP - LH/RH N/s ene o/SAM	153.3000	2 PC	306.60 100

M/S: PAY SWEE KENG JENNIFER

BLK 6 BUKIT BATOK ST 41 #11-17

SINGAPORE 657992

**Estimate No:** 

EST1507967

Date:

23 Mar 2022

Policy No:

MT/00946604

Veh Reg No:

SKT6356Z

Make/Model:

NISSAN X-TRAIL 2.0

CVT ABS 4WD S/R 7-STR

Your Ref No:

ATTN: CHINA

TP 0322-6717

Chassis No: Engine No: JN1JANT32Z0000600

Claim Type:

Third Party

Engine No

MR20724259B

Accident Date:

16/03/2022

Reg. Date:

18/06/2015

TP Veh Reg No: SMN 2755 P

### Estimate Repair Cost to Vehicle No :SKT6356Z

	Description	<b>U/Price</b>	Quantity	Price Amour
				SS S
38	REAR BOOT INNER TRIM - BIG	474.1000	1 PCS	474.10
39	REAR BOOT INNER TRIM - LH/RH 💆 🤈	357.5000	2 PCS	715.00 ×
40	REAR BOOT INNER TRIM - TOP 1	0.0000	1 PCS	0.0000 ×
11	REAR BOOT ABSORBER - LH/RH 1	1,257.900	1 SET	1,257.90 X
42	REAR BOOT TOP SPOILER CLIPS 17	7.4000	14 PCS	103.60 +
43	REAR BOOT WIPER LINK MOTOR ~ 1	494.7000	1 PCS	494.70 ×
44	REAR BOOT WIPER LINK $\checkmark$	0.0000	1 PCS	0.0000 ×
45	REAR BOOT RUBBER 7~1	140.8000	1 PC	140.80
46	REAR BOOT TOP LOCK	0.0000	1 PCS	0.0000
47	REAR BOOT BOTTOM LOCK W/COVER	613.7000	1 PCS	613.70 ?
48	REAR BOOT AUTO SENSOR LOCK	0.0000	1 PC	0.0000 7
49	REAR BOOT INNER HANDLE 1	29.6000	1 PCS	29.60 ×
50	REAR BOOT GLASS W/MOULDING Shall	1,386.000	1 PCS	1,386.00
51	REAR BOOT NUMBER PLATE LAMP - RH/LH	80.2000	1 SET	80.20 X
52	REAR BOOT OUTER NUMBER PLATE GARNISH	145.2000	1 PCS	145.20 X
53	REAR END PANEL 3.65 m	447.5000	1 PC	447.50
54	REAR END PANEL TOP TRIM	78.8000	1 PCS	78.80
55	REAR END PANEL TOP SIDE TRIM - LH/RH	180.2000	2 PC	360.40 >
56	REAR FLOOR PANEL SPARE TYRE SCREW	16.3000	1 PCS	16.30 7
57	REAR FLOOR PANEL SPARE TYRE SCREW TOP HOLDER	41.5000	1 PCS	41.50 ?
58	REAR FLOOR PANEL TOP INSULATOR	154.0000	1 SET	154.00 ?
59	REAR FLOOR PANEL	1,164.700	1 PC	1,164.70 ?
60	REAR FLOOR PANEL TOP COVER W/HANDLE	959.4000	1 PC	959.40 ?
51	REAR FLOOR PANEL CHASSIS - LH/RH	944.4000	2 PC	1,888.80 X
52	REAR FLOOR PANEL CHASSIS SIDE PANEL - L;H/RH	213.9000	2 PCS	427.80
53	REAR FENDER - RH/LH 3u(	1,155.200	2 PC	2,310.40
54	REAR FENDER OUTER ARCH GARNISH - LH/RH	162.5000	2 PCS	325.00
5	REAR FENDER INNER TRIM - TOP - LH/RH 17	180.2000	2 PC	360.40 ×
66	REAR FENDER INNER TRIM - LOWER - LH/RH	492.8000	2 PCS	985.60 ?
57	REAR FENDER COWLING CLIPS	6.4000	20 PCS	128.00 X
68	REAR FENDER INNER TRIM - LH/RH	180.2000	2 PCS	360.40 >
59	REAR TAILLAMP ASSY - RH/LH CA	306.7000	2 PCS	613.40
70	TAILLAMP PANEL - LH/RH	230.3000	2 PCS	460.60
71	TAILLAMP CLIPS - LH/RH	7.4000	4 PCS	29.60 ×
72	REAR FENDER INNER AIR GUIDE - LH /w/	74.6000	1 PCS	74.60
73	PETROL TANK COVER - RH	80.8000	1 PCS	80.80 🗶
74	REAR DOOR OUTER CHANNEL CHROME - RH 17	166.2000	1 PCS	166.20 🗶
75	REAR DOOR STICKER - RH	32.4000	1 SET	32.40 X

M/S: PAY SWEE KENG JENNIFER

BLK 6 BUKIT BATOK ST 41 #11-17

SINGAPORE 657992

**Estimate No:** 

EST1507967

Date:

23 Mar 2022

Policy No:

MT/00946604

Veh Reg No:

SKT6356Z

Make/Model:

NISSAN X-TRAIL 2.0

CVT ABS 4WD S/R 7-STR

Your Ref No: Claim Type: TP 0322-6717

Chassis No:

JN1JANT32Z0000600

Accident Date:

ATTN: CHINA

Third Party 16/03/2022

Engine No: Reg. Date:

MR20724259B 18/06/2015

Accident Date: TP Veh Reg No:

SMN 2755 P

Estimate Repair Cost to Vehicle No :SKT6356Z

	Description	<b>U/Price</b>	Quantity	Price	Amoun
				<u>S\$</u>	<u>SS</u>
				33,600.60	
			Less 10%	3,360.06	30,240.54
	Special Net				
76	FRONT EXHAUST MOUNTING - LH/RH	24.2000	2 PC	48.40 .7	
77	REAR EXHAUST MOUNTINGS - RH/LH 76/2	24.2000	2 PC	48.40	
78	REAR EXHAUST PIPE - FRONT TO REAR Buffyn /	1,244.300	1 PC	1,244.30	_
79	EXHAUST CATALYTIC CONVERTER	1,603.000	1 PCS	1,603.00	
80	REAR CROSSMEMBER 11	1,194.800	1 PCS	1,194.80 🗶	
81	REAR ABSORBER - LH/RH 11	137.8000	2 PC	275.60	
82	REAR LOWER ARM - LH/RH 11	333.2000	2 PC	666.40 >	
83	REAR TOP ARM - LH/RH	283.7000	1 PCS	283.70 >	
84	REAR KNUCKLE - LH/RH 1	813.5000	2 PCS	1,627.00	/
35	REAR KNUCKLE BEARING - LH/RH 11	346.6000	2 PC	693.20 X	
86	FRONT RIM - RH C 47/3W	1,681.500	1 PCS	1,681.50 6	00
37	FRONT TYRE - RH	280.0000	1 PC	280.00 X	
88	HEADLAMP LOWER RETAINER - RH ✓ ↑	71.9000	1 PCS	71.90 🗴	
89	WASHER TANK BODY ^ 1	261.9000	1 PC	261.90 X	•
90	WASHER TANK NECK 11	27.5000	1 PCS	27.50 X	
91	WASHER TANK CAP	6.3000	1 PCS	6.30×	
92	FRONT FOGLAMP - RH /	321.6000	1 PCS	321.60	
93	REAR BOOT WIPER ARM	70.2000	1 PCS	70.20	1
94	REAR BOOT WIPER ARM	23.8000	1 PCS	23.80	1
95	REAR FEBNDER QUARTER GLASS W/MOULDING - LH/RH	680.0000	2 PCS	1,360.00	
96	REAR CAMERA	600.0000	1 SET	600.00 3	SU
97	REAR NUMBER PLATE WITH CASING 3	35.0000	1 SET	35.00 7	_
98	REAR BUMPER SENSOR (4PC)	440.0000	1 SET	440.00 2	(1)
99	SEALANT Ree wassels NEC	20.0000	2 PC	40.00	
00	SPONGE TAPE REW WINDSCREA NEC	20.0000	1 PCS	20.00 4	
	NEO		1	12,924.50	12,924.50
	Labour				
01	TOWING FEE	60.0000	1 PCS	60.00	
02	TO KNOCK OUT DENTS, REAR STYRAIGHTEN CHASSIS, REAR TWO FENDERS, FRONT TWO FENDERS, REAR SPARE TYRE FLOOR PANEL, SUPPORT PANEL, LHR FENDER, CUT/WELD, REMOVE, REPLACE ACCIDENT PARTS	2,800.000	1 JOB	2,800.00 2	400
03	TO RESPRAY PAINT ON ACCIDENT PORTIONS	2,600.000	1 JOB	2,600.00	2000
	TO CHECK WIRING	50.0000	1 JOB		30

Blk 3022A Ubi Road 1 #01-45/46 Singapore 408716 TEL: 6741 5336 FAX: 6741 7208 Email: claims@procarcare.com.sg GST:201006949C RCB NO:201006949C

M/S: PAY SWEE KENG JENNIFER

BLK 6 BUKIT BATOK ST 41 #11-17

SINGAPORE 657992

**Estimate No:** 

EST1507967

Date:

23 Mar 2022

Policy No:

MT/00946604

Veh Reg No:

SKT6356Z

Make/Model:

NISSAN X-TRAIL 2.0

JN1JANT32Z0000600

CVT ABS 4WD S/R 7-STR

Your Ref No: Claim Type:

TP Veh Reg No:

ATTN: CHINA

TP 0322-6717

Third Party

Accident Date:

16/03/2022 SMN 2755 P

Chassis No: Engine No:

MR20724259B

Reg. Date:

18/06/2015

Estimate Repair Cost to Vehicle No :SKT6356Z

	Description	<b>U/Price</b>	Quantity		Price	Am	oun
					<u>S\$</u>		S
105	TO REMOVE, REPLACE REAR BUMPER SENSOR	100.0000	1 JOB		100.00	50	
06	TO TUFF-KOTE	120.0000	1 JOB		120.00		
07	TO REMOVE, REPLACE REAR BOOT GLASS	150.0000	1 JOB		150.00	120	
08	TO CAR-O-LINER CHASSIS	250.0000	1 JOB	11	250.00	X	
09	TO REMOVE, REFIX REAR GARNISH, CARPET, CUSHION & RELATED PARTS	300.0000	1 JOB		300.00	100	
10	TO REMOVE, REPLACE REAR EXHAUST PIPE	200.0000	1 JOB		200.00	120	
11	TO REMOVE, REFIX PETROL TANK	200.0000	1 JOB		200.00	60	
12	TO 4 WHEEL ALIGNMENT	100.0000	1 JOB	9	100.00	60	60
13	TO REMOVE, REFIX FRONT UNDERCARRIAGE	400.0000	1 JOB	11	400.00	X	
14	TO REMOVE, REFIX REAR UNDERCARRIAGE	500.0000	1 JOB	11	500.00	X	
15	TO REMOVE, REPLACE RR FENDER GLASS - LH	60.0000	1 JOB		60.00	_	
16	TO REMOVE, REPLACE RR FENDER GLASS - RH	60.0000	1 JOB		60.00		
17	TO VACUUM GLASS	60.0000	1 JOB	11	60.00	×	
18	TO TRANSFER 3 DOORS AND DOOR FITTING	300.0000	1 JOB	11	300.00	X	
19	TO RESET CHECK LIGHT	200.0000	1 JOB		200.00	50	
20	TO REMOVE, REPLACE RHF SEAT	200.0000	1 JOB		200.00	100	
					8,710.00	8,7	10.0
				Tot	al	S\$ 51,8	75.0

Add GST @ 7%

3,631.25

Total Amount Payable

S\$ 55,506.29

TOTAL: SINGAPORE DOLLAR FIFTY FIVE THOUSAND FIVE HUNDRED AND SIX AND CENTS TWENTY NINE ONLY

For Progressive Car Care Pte Ltd

**AUTHORISED SIGNATURE** 

# TEO KIAN HOCK (CHEE CHEN) TOWING SERVICES 张建福(机件)拖车服务

Mailing Address: 40 Cactus Road, Singapore 809597

甘四小时服务 24 HOURS SERVICE HP: 9679 0882 Fax: 6854 0407 Reg. No. 413736/00L

1
and the same
dispose
Landons
ш
0
house
Cohen
london
Commercial
1
and the same
4500
Million
5
NAME OF TAXABLE
_
-
ш
1
STREET, S
-
-
CA
00
<b>MARGINER</b>
Tankan I
PA
50
Standard
The same
03
Same

Date: 29 3 /2	Jan	BULA			20 m m m m m m m m m m m m m m m m m m m
	> 專型 Nof	章 0007			N M N N N N N N N N N N N N N N N N N N
maple 1/100	SKT 62 X	P Durna	夏)		
Messis.	手號 Wehicle No:	rom:	专問(日/夜) ime (day/night):	t他 others.	

CHEQUE

......

Received by: ..... Authorised by: .....

NOTE: Vehicle is towed at owner's risk. The Company accepts no responsibility for damages or other misdemeanour to your 注意: 本公司對所托之車輛, 在進行中如有任何损失或損壞, 一概由車主自行負責。 vehicle whilst being towed.



# SINGAPORE ACCIDENT STATEMENT

#### IMPORTANT NOTICE

Please report <u>correctly</u> the details of the accident to speed up the claims process.

2. This Form must be completed by the Policyholder and/or the Authorised Driver
3. Information provided must be as truthful and accurate as possible. Any wilful misrepresentation or witholding of material facts may allow insurance companies to repudiate policy liability.

4. The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.

5. Any false reporting may be referred to the Police for investigation.
6. This report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will, for a fee, be made available upon application by interested parties.

7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.

#### **ACCIDENT STATEMENT**

Date of Submission 23/03/2022 17:55 (SGT) Date of Accident 16/03/2022 17:10 (SGT) Exact Location of Accident Upper E Coast Rd, Singapore Additional Location Information Country/State of Loss Singapore

#### **DETAILS OF OWN VEHICLE**

Nissan

Vehicle Registration Number SKT6356Z

#### INSURED/POLICYHOLDER

Is company? Name Of Registered Owner PAY SWEE KENG JENNIFER NRIC No SXXXX238B Email Address jpay.policy@gmail.com Mobile Phone No (Phone) +65-93232166 Alternative Phone No +65-93232166

#### VEHICLE PARTICULARS

Manufacturer

Model X-trail Variant Exact purpose for which vehicle was being used at time of accident Private use Are you claiming under your own insurance policy for repair to your vehicle? No - Claiming third party Vehicle Category Private car Transmission Auto CC 2000

#### **INSURANCE COMPANY**

Name of Insurance Company Direct Asia Insurance (Singapore) Pte Ltd Type of Coverage Comprehensive Fleet Policy Policy Number MT/00946604 Cover Note Number

#### DRIVER

Name of Driver PAY SWEE KENG JENNIFER NRIC No SXXXX238B

Date Of Birth 21/10/1965 Occupation Indoor Date Of Driving Pass 21/04/2011 10 YEARS AND 11 MONTHS Driving experience Gender Mobile Number (Phone) +65-93232166 Alt. Phone Number +65-93232166 Email Address jpay.policy@gmail.com Address BLK 6 BUKIT BATOK ST 41 #11-17 Address complement Postcode 657992 Is the driver the policyholder? Yes If No, Relationship of the Driver with the Insured Does Driver Own Other Vehicles? No Vehicle Registration Number of Other Vehicle Owned by Driver Insurance Company of Other Vehicle Owned by Driver GENERAL INFORMATION OF THE ACCIDENT Type of Accident Chain Collision Weather Conditions Clear Road Surface Dry OTHER INFORMATION Was any foreign vehicle involved in the accident? No Number of vehicles involved in the accident Was anybody injured in the Accident? Yes Was any injured conveyed to hospital by ambulance? Was any other vehicle or property damaged? Yes Number of Passengers (Including Driver) Has the driver been approached by unknown person(s) soliciting/offering accident claims assistance? **DETAILS OF POLICE ACTION** Was the accident reported to the police? Police Station Name Bedok North Neighbourhood Police Centre Police Station Phone No (Phone) +65-18002449999 Alt. Police Station Phone No (Fax) +65-62447258 Police Station Address 30 Bedok North Road Singapore 469676 Was notice of intended Prosecution given? If yes, against whom? CIRCUMSTANCES OF ACCIDENT REFER TO ATTACHED STATEMENT RECORDED BY LILY - PROGRESSIVE CAR CARE PTE LTD 67415336 ATTACHMENT(S) Are accident photos available for attachment? Yes Was there any video captured by Car Camera? No Was there any audio recorded? **DETAILS OF OTHER VEHICLE PROPERTY 1** Vehicle Registration Number SMN2755P Vehicle Manufacturer Vehicle Model Vehicle Variant

Vehicle Colour

Vehicle Category	Private car
Name of Driver	-
Contact Number	
Address	
Address complement	
Postcode	-
Insurance Company Name	-
Nature Of Damage	-
Details of property damaged in accident	-
No. Of Passenger (Including Driver)	
No. Of Fassenger (including Dilver)	

# DETAILS OF OTHER VEHICLE PROPERTY 2

Vehicle Registration Number	SDJ6338L
Vehicle Manufacturer	-
Vehicle Model	_
Vehicle Variant	_
Vehicle Colour	
Vehicle Category	Private car
Name of Driver	-
Contact Number	_
Address	-
Address complement	-
Postcode	
Insurance Company Name	-
Nature Of Damage	-
Details of property damaged in accident	_
No. Of Passenger (Including Driver)	_

## **DETAILS OF OTHER VEHICLE PROPERTY 3**

Vehicle Registration Number	SMA5330E
Vehicle Manufacturer	-
Vehicle Model	_
Vehicle Variant	_
Vehicle Colour	_
Vehicle Category	Private car
Name of Driver	-
Contact Number	-
Address	_
Address complement	_
Postcode	_
Insurance Company Name	_
Nature Of Damage	-
Details of property damaged in accident	
No. Of Passenger (Including Driver)	
C. Coongo, (molacing Diriol)	-

## INJURED PERSONS DETAILS

#### INJURED 1

Name of injured person	PAY SWEE KENG JENNIFER
Gender	
Phone No	-
Address	
Address Complement	
Post Code	_
Approximate Age Years Old	2
Injuries Sustained	
Injured person in which vehicle?	SKT6356Z
Were seat belts worn?	
	Yes
Was this injured conveyed to hospital by ambulance?	Yes

#### SKETCH PLAN

#### IMPORTANT NOTICE

- 1. Please report correctly the details of the accident to speed up the claims process.
- 2. This Formmust be completed by the Policyholder and/or the Authorised Driver.
- Information provided must be as <u>truthful and accurate as possible</u>. Any wilful misrepresentation or withholding of material facts may allow insurance companies to <u>repudiate policy liability</u>.
- The issue and acceptance of this Form by insurance companies is not an admission of policy liability on the part of the insurance companies.
- 5. Any false reporting may be referred to the Police for investigation.
- 6. The report will be forwarded by the insurers of the GIA Records Management Centre established by the General Insurance Association of Singapore (GIA) for archiving and that copies of this report will for a fee be made available upon application by interested parties.
- 7. By the lodgement of this report to the insurers, you hereby consent to the archiving of this report at the centre and to copies of the report being made available aforesaid.
- 8. Consent under the Personal Data Protection Act (PDPA)

l understand, acknow ledge, agree and consent that :

- (a) My insurer, my workshop and the General insurance Association of Singapore ("GIA") may/are permitted to collect, use, disclose and/or process my personal data/personal information set out in this [form] and any other personal information provided by me or possessed by my insurer (collectively the "Personal Information") and disclose and transfer such Personal Information to all insurer(s) who have insured vehicle(s) involved in this accident (all insurers) who have insured vehicle(s) involved in this accident shall be collectively referred to as the "insurers", the Insurers' law yers/law firms, the Monetary Authority of Singapore and any relevant government agency/authority (such as the police), for the purpose(s) of :
- (i) processing, handling and/or dealing with my claims including the settlement of the claims and any necessary investigations relating to the claims;
- (ii) investigating the accident and/or my claims;
- (iii) carrying out and/or dealing with my instructions or responding to any enquiries by me:
- (iv) administering my claims (including the mailing of correspondence, statements, invoices, reports or notices to me, which could involve disclosure of certain personal data about me to bring about delivery of the same as well as on the external cover of envelopes/mail packages); and/or
- (v) complying with applicable law in administering, processing, handling and/or dealing with my claims.(collectively the "Purposes")
- (b) all insurer(s) who have insured vehicle(s) involved in this accident and the insurers' law yers/law firms, may/are permitted to collect, use, disclose and/or process my Personal Information for one or more of the above Purposes; and
- (c) my Personal Information may/can be disclosed by any of the Insurers and/or GIA to their third party service providers or agents (including their law yers/law firms), which may be sited outside of Singapore, for one or more of the above Purposes.

Policyholder's Signature / Date &

Time

Driver's Signature (# driver is not the policyholder) / Date

& Time

Witnessed by Reporting Centre

Sketch Plan

A-SET6356 Z
B-SMN 2755 P
(-S0J6338L
D-SMA 5330 E

Describe Circumstances of the Accident

1 10 few 10	STONICE	14uti	
Declaration			
We declare the foregoing particular	s are true in every respect.		
		inquirer may have a favor	en (14) days clause whereby the claim
must be made within the stipulated t	imeframe from the day of occurrence	. Kindly check with your in	surer for more details.
. )	1		
Tayunger			h
Policyholder's Signature / Date &	Driver's Signature (If driver is not the	ne policyholder) / Date	Witnessed by Reporting Centre
Time	& Time		Personnel





172022032

3 of 3

Report No. T/20220323/2043

Police Station Of Origin: Bedok N.P.C

30 Bedok North Road SINGAPORE 469676

Tel No: 1800-2449999

CONTINUATION OF REPORT

#### Sketch Plan

Informant is not able to provide sketch plan

Signature of Officer Recording The Report:

IMPORTANT: Please attach a copy of your vehicle's Insurance Certificate to this report. If you don't have the certificate with you now, please fax a copy to 65474885 stating the **report number** as reference.

Signature Of Informant:

G / SR STAFF SGT KHAIRI
YAHYA BIN MOHD SANI

Signature Of Interpreter:
Not applicable

Date/Time:
23/03/2022 14:49

Classification Of Case:
TP / GIT /
Other NG BEIFENG
Contact No.: 65476845

**NP168** 









Police Station Of Origin: Bedok N.P.C

30 Bedok North Road SINGAPORE 469676

Tel No: 1800-2449999

1 of 3

Report No. T/20220323/2043

#### REPORT OF A TRAFFIC ACCIDENT

Date/Time Report Made: 23/03/2022 14:49			Vide Report No.: G/20220316/0170	Station Diary No.: 66		
Informan	t's Partici	ılars				
Name of Informant: PAY SWEE KENG, JENNIFER			Address: BLK 6 BUKIT BATOK STREET 41 #11-17 SINGAPORE 657992			
ID Type / ID No.: NRIC NO / S1729238B			Contact No.: Home/Office:	ntact No.:		
Nationality: SINGAPORE CITIZEN		EN	Email: jpay.policy@gmail.com			
Sex: Female	Age: 56	Date of Birth: 21/10/1965	Type of Informant: Driver			
Race: Chinese			Language: English	Institution / School Name:		
Occupation: SELF EMPLOYED			Driving Licence Information: Class: Date of Expiry:			

Type of Accident:	Injury Conveyed By Ambula	Drink Drive: No	Date/Time of Accident: 16/03/2022 17:10	Type of Location Straight Road
Location: UPPER EAST	COAST ROAD			
Weather:		Road Surface:		
Clear			l P	load Speed Limit:
Clear		Dry		
Clear Traffic Flow: One Way	•	Ory Fraffic Control: Not Controlled		raffic Volume:

Details of Vehicle Involved						
Vehicle No.	Type	Make	Model	Color	Condition	No of Passenger
SDJ6338L	Car				Slightly Damaged	0
SKT6356Z	Car	NISSAN	X-TRAIL 2.0 CVT ABS 4WD S/R 7- STR	Grey	Seriously Damaged	
SMA5330E	Car					0
SMN2755P	Car			ν –	Seriously Damaged	0





2 of 3

Report No. T/20220323/2043

Police Station Of Origin: Bedok N.P.C

30 Bedok North Road SINGAPORE 469676

Tel No: 1800-2449999

CONTINUATION OF REPORT

Details of Vehicle Insurance					
Vehicle No.	Insurance Company	Insurance No	Effective	Expiry Date	
SKT6356Z	DIRECT ASIA INSURANCE (SINGAPORE) PTE, LTD.	MT/00946604	19/07/2021	18/07/2022	

Any Pedestrian Ir			·			
No. of Pedestrians Injured: NIL			Use of Pedestrian Crossing: NA			
Driver						四回接署門對於劉門
Name	PAY SWEE KENG,	JENNIFER		ID No.		S1729238B
Related Vehicle	SKT6356Z (Car)			Contact No.		93232166
Hospital/Clinic	CHANGI GENERAL HOSPITAL			Class Driving Licent Expiry	g ce &	Class: 3 Date of Expiry: NIL
Date Treatment	16/03/2022		Date Disch			/2022
No. of Days granted Medical Leave 03			Degree of	Injury	Slight	

#### **Brief Details.**

On 16/03/2022 at about 1700 hours, I was driving my vehicle SKT6356Z along Upper East Coast Road towards Bedok South. I was driving on the first lane when I observed that there was a vehicle in front of me bearing vehicle registration number SDJ6338L which had slowed down and signaled right as she wanted to turn right into the carpark. As the vehicle was still a distance away, I was able to slow down and come to a complete stop. Out of a sudden, there was a strong impact from the rear of my car, causing my vehicle to be pushed forward, colliding with the vehicle in front. The vehicle that collided with mine was bearing vehicle registration number SMN2755P. Due to the impact, I was unable to exit from my vehicle and the door would not open. I was then assisted out of my vehicle and I sat down by the road side. Paramedics then came and I was escorted to Changi General Hospital and was given 3 days MC. I have an in-car camera in my vehicle but I have not checked the footage as the car is not with me.

I was then contacted by TP IO Roi and was advised to lodge a police report.



# **Vehicle Details**

Vehicle No.

SKT6356Z

Make / Model

NISSAN / X-TRAIL 2.0 CVT ABS 4WD S /R 7-STR

Vehicle Type:

P11 - Passenger Station Wagon/Jeep/Land

Rover

Vehicle Scheme:

Normal

Propellant:

Petrol

Motor No.:

-

Power Rating:

-

Maximum Laden Weight:

2190 kg

Year Of Manufacture:

2015

Lifespan Expiry Date:

-

Quota Premium:

\$75,801.00

Road Tax Expiry Date:

17 Jun 2022

Inspection Due Date:

17 Jun 2022

CO2 Emission:

178.00 (g/km)

Vehicle Attachment 1:

With Sun Roof

Chassis No.:

JN1JANT32Z0000600

Engine No.:

MR20724259B

Engine Capacity:

1997 cc

Maximum Power Output:

106.0 kW (142 bhp)

Unladen Weight:

1626 kg

Original Registration Date:

18 Jun 2015

COE Category:

E - Open Category

COE Expiry Date:

17 Jun 2025

PARF Eligibility Expiry Date:

17 Jun 2025

Intended Transfer Date:

23 Mar 2022

CEV/VES Rebate Utilised Amount:

-